httE://harxanacurrentaffairs.com

[3] _ [C]

9RT— 1/ PART =1
91T foepry Te fRensmes / CHILD DEVELOPMENT & PEDAGOGY

3 - ﬁwﬁ%’w#%aﬁﬁ’#ﬁﬁvmﬁaﬁaﬁwgﬁm

Direction : Answer the following questions by selecting the most appropriate opt ion.

1. BRI 3“315‘;1 T g8 § 9 gEg § 7 * 1. What is the relationship between negative
(1) 3 Frelr ST & ggo a9 ¢ | ! r;)n/foBrcimentd and pumshtrlnent i
(2) 3T .ﬂgm B F oth tend to strengthen a response
: (3) i a;-{% U € : (2) Both tend to weaken a response
©) - X s ae (3) Negative reinforcement strengthens
R ds fil ergiEr | a response whereas punishment
; Eﬁ HASIX ST & | "~ weakens a response.
(4) THERHH JAee [Bel TR bl (4) Negative reinforcement weakens a
FHNX SAAT & ol g fhdl ' response  whereas ~ punishment
STfERAT B g ST = - strengthensaresponse.
2. QTR @ ddq # Frited 7 @ H-Al 2. Which of the following is not true about
Hoe o8 7@ 2 | a reward ?
(1) I8 Read &1 Th T g ; (1) Itisatype of bribe.
(2) g e Fgek F gl A Bl (2) It increases desirable behav1our
- (3) TE TH HfeRhT JEH Bl 4 (3) Itis a pleasant stimulus.
4) IB aﬂm @l 96 Eb_{ef % fera ﬁ'qr ) It is given to strengthen the
ST B . response. i
. i # ﬁ aﬁa—w e aﬁ'{lﬁ i _-3 Which of the following is not an
gﬁéﬁ 7 e 78 & 7 \ S example of fixed interval schedule of
: "1 | a?F-TFIT‘ﬁ . T i - reinforcement ?
o (1) 4 ‘E 'qf“"g‘,'r‘ Ii[_ T A 5 (1) Getting salary e_very'month _
@) WWWW U e Diling a busy number
4 LR G % E":" T AR ) ‘Having a perio"dic dental checkups
Lol ; i (4) Gettmg increment every year
) the follovsnng is m)t a fm of
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T FRAT ) 78 HE 6 & O
& P § B ¥, A ST %hgm
(1) @R feres _ ,
(2) FIaH qQH =

[4]

5. 'Modelling'

. Which law of

is an effective teaching
method for : ,

(1) Children with visual impairment
42y Children with learning disability

(3) Acid Attack Victims

(4) Children with intellectual disability
"Trial and Error' given by

Thorndike is similar to the concept of

reinforcement' 7

(1) Law of Use

(2) Law of Disuse g

(3) Law of Effect

@y Law of Readiness

"Young teen-agers often believe that

they are completely unlike any one

else.' This phenomenon is known as :

{1y Personal fable

‘@) Imaginary Audience
(3) Selfrealization

OT!

ty that ocours less often. This
isknownas: |

.
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0. Fr=fafaa & @ @9-Tr @ efffesw

Qe feaetisy 1 fqavwar 72 & ?

(1) 3@ oIk g & gen

(2) TMIfST Sfifshar § qwe

(@) ufEs iR ofes  wdmor §
e

(4) SNTHD /TR B

1. “lFE 3 W W ¥ 9= e s,
FE, T W oM W S 3 @
ﬁmaﬂa%l”

e Y9 e ¥ ¥ R dsers
feehT 1 STeReT %1 T e ¥ ?
(1) GEI IR STaRe

(2) 3 AR e

(3) Il kT STeRe

(4) e WA s
Feifer § & Al we g
et e FANT § delfm B 7
(lmﬂiﬁem |

i

[5]

[C]
Which of the following option is ot a
characteristic of Autism Spectrum
Disorder ?
(1) Problem in vision and hearing
) Problem in social interaction
(3) Problem in verbal and nonverbal

communication

(4) Repetitive behaviour
11. "At this stage of development children

think with their eyes, ears, hands and
other sense organs."

The above statement best describes
which of the following stage of
cognitive development ?

A1) Sensori motor stage
(2) Pre-operational stage
(3) Concrete operational stage
(4) Formal operational stage

10.

Which of the following concept is

derived from famous 'Bobo Doll

.experiment ?

(1) Insightful learning

£) Observational learning

(3) Moral development

(4) Conditioned response

‘What is the correct sequence of four
elements of observational learning ?

N Qf)’ Attention  —  Motivation |

147
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fw&m:ﬂ‘.ﬁfﬂwm‘mqum e

C (e ents, }‘wryonc 1s
s [ T O
(af zﬁzﬂj;:;ﬂ ST (D Personal tablel
(25 FIRE el rg2>;/‘[maginary audience
(3) TARFRE Jarar 3) Anorexie;?lervoga
gﬁiﬁm (4) Bulimia Nervosa
16. gj@“ﬂﬁﬂ' %% & & Rigia 16. According to Ecological systems ;hc‘t’;z
P SFER =i § q -9 D B of Bronfenbrenner, which OMacxm
‘geq &’ | THiea 7@ © 7 following does not belong to
“ ~ system of the child ?
(1) foema ) - (1) School (2) Values
(3) A (@) dfcr Rarst : (3) Laws “wy” Customs |
17. Frife & ¥ e S-orEEe @ 17. Which of the following is the founder of
T AT ST & 7 Child Study Movement ?
(1) T&hs faq . : (1) Alfred Binet
(2) REER TEad ' @) Theodore Simon
(3) Sifo T Bia : gL (3) G. Stanley Hall
(4) dlo Tho [T (4) B.F. Skinner
18. WES & Aq:ﬁ%ﬁa; e & Eid & 18. ghe d?ge tr}?nge of fgeni;[al Etage otl”
aReaT reud's €0 0 sycho-sexua
m ﬁ,a:;[ G%ﬁﬁi}ﬁr{m T Wi development isrys1m11ar to vglhlch of the
_ following stage of Erikson's theory of
ST % G & Psycho-social development ?
(1) fagara s=M sAfgar e - (1) Trust vs mistrust '
(2) WAl SHH I U g 2)Autonomy vs shame & doubt
(3) 9Bd I9H SAIUH ey ; (3) Initiative vs guilt
(4) TSN =M aimq;[ 3 (Role Confusion) ' (4) Identity vs role confusion ‘
19. TR  FIER faseer  (Applied 19. Applied Behaviour. Ana1y51s 1s based on
Behaviour Analysis or ABA) Fifeee & | principles of :
& frE Rid X e © 7 S |
(1) sTeig ofgEead A4y ; ' (1) Classical conditioning
(2) fpar ST egEEe (2) Operant conditioning
(3) Siefe AR ' : ; (@) Insightful learning
(4) FoeeTES STy (4) Observational learning
Sfeq WY (ﬁﬂ) &l FIER'THT U 'I{T’T ol 20. The concept of 'Life Space' is a part of :
(1) =T Sgees & : - (1) Classical conditioning
(2) foram uga oEEs & _ (2) Operant conditioning
(3) SiTeRe ARFH WA (3) Insightful learning
(4) wfee & Rewig & @& Lewin's field theory
Level-3/3321
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21.

22.

23.

24,

25.

(1) FEES T20H H

(2) feRFT W &

(3) STCH-U=/9ee™

(4) GETN dhe &

T S YT Blel U HEuel &)
3l TE YHR ARAT & O Iq Iq W
e ke | I i | S A RO S U B A
(1) Fram 99 eTgea

(2) AT ST FH

(3) FrercnHs STREH @i

(4) SideRe SARFH &

AR dhl & Rawas & deq #
?‘?Tﬁﬁﬁ ¥ ¥ PE-T FUT Gl 7a
(1) g afFa & @ T FET 2|

Q) Rawew & WA fHAR ST ggw
HR Hd & 98 TE &l B & |

(3) =8% AR & SO ARG B
SET 2l & |

'(4)§zﬁsnﬁﬁméﬁwm:rmﬁm
I

T
T & ag Rl e
g :
(1) fom we dEHT &R
(2) F T ded an
(3) e ug e E’
(4) dreEd U TR &
ARes & Gi-skee e @ E e
4 Q B F FEEd aa?‘éﬁ%?
(1) smife gREms

NOARCGE

(3) =& g
(4) 3t T 5@

Level-3/3321

21:

22.

23.

24,

25.

[C]
A teenager feels that no one has ever
been as deeply in love as he is. It
indicates :
(1) Imaginary Audience
(2) Personal fable
@Y Self identity
(4) Identity crisis

A child angrily hits a playmate in the
same way that he has been punisbcd at

- home. It is an example of :

(1) Operant conditioning

(2¥" Classical conditioning
(3) Observational learning
(4) Insightful learning

Which of the following is not true about
Day Dreaming among adolescents ?

£) Tt is a form of active play.

(2) The roles adolescents adopt in day
dreaming are heroic.

(3) It involves more physical activity
than mental. -

(4) It involves more mental activity
than physical.

The 'investment theory of creativity' is
given by :

*(1) Binet and Simons

(2) Carrol and Cattle
(&) Sternberg and Lubart
(4) Watson and Ryner

Which of the following is nof controlled
by pre-frontal cortex of brain ?

(1) Body Movement
(2) Thinking
(37 Problem solving
(4) Vision & Hearing
P.T.O.
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26.

27.

28.

20,

F i & ogaR, Frefea § 9
%—wﬁmmaﬁm@mﬂ T ?
(1) ST (2) fagemeT

(3) |eATT 4) srgfe

= gfw @ frfReg § @S-
Hebesh TaH & 7

(1) gie e § 103 sfs 9 &
() T T FHaar 9o B ‘

(3) T I U< HIAT

(4) y=UNT & ggEd GHM
SERE] .

ﬁ"q% ST ASEE A9 GG T
JX | o9 R 3 SEE F9 Fe%
Y81 79 9 I Ry o S & I AT
?Iwwﬁﬁﬁﬂﬁﬁﬁrﬂw
(l)m

s

() R

@) S
(4) STFTET

A1

[8]

29. Wh

26. As classified by Bloom, which one of
" the following is not a subdomain of

cognitive domain ? ;
(1) Application 2) Analy51s_
,@7 Synthesis (4) Responding
27. Which of.the following is best indicator
of high intelligence ?
(1) Scoring 103 on an IQ test
(2) Reciting poem from memory
{37 Earning high grades
(4) Not making the same mistakes after
receiving feedback
28. Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
‘only three digits of her new mobile
number. The cause behind it may be :
¥ (1) Decay '
: Q‘)/ Proactive Interference
(3) Suppression
(4) Regression
1 ‘the following is rot true about
oy anygotsky 7
little  from
can already
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[9] [C]
AT~ 11 / PART — | '
o (&=t ud SidStl) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI 1
ﬁé&r:ﬁwﬁ@awﬁiaﬁ?#%mwﬁaﬁﬁﬁmgﬁm
%, ' . ¥
31. ‘USRI H U=IpEA W gfe | fre (2) @R @ @ gein B Selh
A () R ST T 6l i 2
(1) PRz, o, i, & @) PR w3 gERe § e % @
(@ 5V, %9, i, e W oy Fe @ @ P @
(3) H, T, TS, gon | S WA @Y FEl S ®
(4) it 9, e, aor b B 7 B T i B
S TE T iy | . @ % wE-a A A o e
%Tﬁﬁﬁﬁwmﬂm: aife : 2 Py @ @l o B
- 4 en— " s .
() g q‘ﬁgu.q-- ‘ @ e # o 9 9 oat we
@ SR+ J =Bd | %mﬁmaawﬁaﬁm‘
@/W+q SIREE el . H‘Efﬁﬁ%l :
(4)ﬁﬁm'f+q = frea 0 \
, | 35 ‘fa@wer w@F a‘s ferenTees PIT-2h-
188 Wa‘o’rgﬁ@r - fawd o | "g? o d
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[C] e
o7 B § @ Pra Rew A SR A a1, e gfie & g T
= 2 7 ' (1) s
(1) o @ ¥} @ W
@7 WL (4) TG @y S
. £ | (4) FE
38, ‘G § @ &9 @ ¥ - ge F wg | |
 wm R 42, ‘e S B @ N @A @ - O
(1) P 7 CAES v SRR
: : areeh & 7
() SIfgEEaa® ' ' s
| (1) e (RS
 ’(‘-°’) LR o L gy TR (4) T 9 &
- (4) g e | |
e G 43, ‘FHCTH T A P
o S
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[ 35fl / ENGLISH |

Direction : Answer the following questzons by selecting the most approprmte option.

46.

47.

48.

) Fooﬂnlls @ DBezp

Choose the correct past tense and past
participle of the verb 'Begin' :

(1) Began, Begun
(2) Begun, Begun

3) ‘Be.gin, Began

(4) Begun, Began

Choose thé correct form of the verb

'play' from the options below

They e be i st (play) since four
O'clock. - <

- (1) have played

(2) will play
(3) play |
5] have b'een playing

"Choose the correct synonym of the

word 'Pmnacle ' |
§t‘) Peak £ -(_2) Pas§

50. Choose the correct preposition for the

blank given below :

She had great affectlon ............. her
grandchlldren

(1) within  (2) into

(3) against - @ for

51. They rested when evening came.

The underlined group of words in the

-above sentence is a/an :

gey) .'Adjectivle clause

(2) Noun claﬁse
B Adverb clause

@ Conjunction clausé

52. Which c;f the options given below is the
e " % cogr'ept-’:ihdirgct--{ form of ‘the given
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53. Choose the correct option for the blank 57. Choose the correct form of the verb :
given : . . —
:  GymnastiCs ....covoeoeeees my favourite
He found her blue ford escort in the car ik
PATKS Seaiet dee vehicle was locked and PR .
 the lights were off. i ' : Mris - (2) are
() A ot e (@) A @) wee (4 do
(3) The (4) zero article ; o ek oY o4
T : .58. Choose the word with the incorrect
54. Choose the correct 'plural of the word - suffix 'ship' . ' :
R Sl B (1) Friendship
1) Speci Ll - g
! ( LRI . o ; (2) Membership
: 7 SP,CCIeS hi % . R |k (3) Relationship
~ (3) Specei ' g .
-( ) .pC'CClS ' _ ‘ 8 (A Argueship
-(4) Specieses - G S B AR ,
Yoo e oo i e e A 59, Complete the sentence using the correct
55. Choose the correct synonym of the -~ option ;- =
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[13] [C]
| HqRT- 11/ PART -1l |
AW 199+ / GENERAL STUDIES

[ ST A, b AR T W S UF SRS / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T ﬁwﬁn@aw#%aﬁ?ﬁi‘mmaﬂaﬁwﬁm

Direction : Answer the following questions by selecnng the most approprmte option.

61, A sind—cosA=0" .E-T, @ 61. If sin4—cos4 =0, then the value of
sin® A+ cos* 4 @1 79 & - sin* A+cost 4 is -
A0 @Ak W @0 )
1 gyt e | I s 48
@) = i | 1 3
Y Sl S | R @ =
62. wh Td, e g #i gy # % | 62 A boat o e (R
g El'q FE D et w @ P downstream in% hour, while it comes
TR H 1_ I H W{?ﬁ s qﬁ T back in 1%" hours. If the speed of the
,sﬁ;ﬁuﬁwaﬁﬂﬁ%a@?ﬁ% ol stream be 5 kmph. What i the speed of
ﬁﬂ'{wﬁﬁﬁﬁﬂﬁﬂﬁm_ .  the boat in still water ?
" io i%sﬁr./qvar - - | @ 10kmph
s O A e e R () Ikl
G) 13 A Ul T g NE) 13 kmph
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64, 'qﬁ ‘T F o, sw-oE B 64. If 'South-East' is called 'East’, North-
ofyem’ ‘efeor-ufyem’ @ Gl e " West is called 'West' 'South-West' is
ST ¥ aen s g ST St @ 8, called 'South' and so on, what will
‘TR’ Bl T PRl T ? ~ North' be called ? v
(1) afEor. (2) STR-ufdEm (1) South  #2) North-West
@) E (@) S (3) North-East (4) North
65, TF TN S H T 4p3 § 984 g - 65. A three digit number 4p3 is added to
q?}*“"“‘"gm U7 T IR bl P T 13q7 W e 984 to get a four digit number 13q7. If
g1 3R 13q7, 11 @I I 8, (q p&E | " 13q7 is divisible by 11, then the value
HE B8R of (q — p) will be :
£ 8 @ 9 | 8 @9
(B)p Tasheial 1 4 11 E ' @il d O A
66. RU 7T WHHCT 1 TR AT a0 % | 66. Select the corect combination of
ol B afeare % fow R ﬁ!@‘ i ~ mathematical signs to replace *' signs
Tl FA e gﬁre i ke _an@ m balance the given equation :
9*7%2**3% ; ST 9*7*2*3*10
| (2) r“P x =
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69.

70.

71.

T

73.

3) NATION

@)l

http://haryanacurrentaffairs.com

foref wigfes AT H 'CERTAIN' &
9% 'XVIGZRM', 'SEQUENCE' &1 3¢
g/ 'HVIFVMXV' &, @ '"MUNDANE!'

97e% T T B
(1) NFMWZMX (2) NFMWMZX

B NEMWZMV  (4) NFWMZMV
g% HEl 10, 12, 15 @ 18 § qof
fofT 8 e e ot e R

(2) 900

(4) 1024

(1) 876
(3) 981

9 & @ P9-a1 95 "DICTIONARY"

%am‘faars@wasﬁgq ﬂaﬁ'aﬂwm
T © 7
(1) RATION (2) DAIRY

(4) ACTION
"BRIGHTER" 9T & 78 & fehaq 0
79 E, fe 9= s & onR € R
ﬁseﬁvﬁaﬁmﬁaﬁ%?‘- (3
(1 4 (G2 0
G

T .4 A | :
qﬁ'_= E}Eﬁ(7 2y+x‘) EB[“TFT

[15]

69.

70.

A

0%

73.

[C]

In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded
as 'HVJFVMXYV', then how would
'MUNDANE' be coded ?

(1) NFMWZMX (2) NFMWMZX

(3) NFMWZMV (4) NEWMZMV
The least perfect square number which
is exactly divisible by :

10,12, 15 and 18
(1) 876 @) 900
(3) 981 (4) 1024

Which of the following words cannot
be formed by using letters of word

- "DICTIONARY" ?

2) DAIRY
(4) ACTION

(1) RATION
(3) NATION -

 How many pairs of the letters does the

word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the English alphabet ?

1) 4 2) 2

@) 1 ) 3

If i=i, then value of i_2y_—x
W g 2y+x
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[C] .
75. uE oTed ordY g & L4 A g H
Y @ af o m, U oMY Hud G A
mqﬁgyﬁaﬂleﬁg&ﬁm

o B.7
(1) 8ay () 10 a9
By e (4) 14 ¥

76. mﬁgﬁwmmﬁm
10, 12, 28, 90, 360, 1850

NN |1y 12 (2) 28

\'~/(3) 90 Y 360

77. 28 T % USl, 42 ¥ & Usf g 21 GR

: %ﬁs’rzﬁrqﬁﬁ%mwsﬂ
AT ST B 6 39 goe dfe J
@aw%wmﬁﬁgﬁl%ﬁ
T 7 b B e G
g Bl

/A U\)(1) 9
g

3) 11

@) 10
Sers

[16]

75.

76.

77.

78.

A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of
his son is :

(1) 8 years
(3) 12 years

Find the wrong number in the seties :

(2) 10 years
(4) 14 years

10, 12, 28, 90, 360, 1850

) 28
(4) 360

(1) 12
(3) 90

There are 28 mango tree@ 42 apple tref:s
and 21 orange trees have to be planted in

rows such that each row contains the'

same number of trees of one variety
only. The minimum number of rows in
which the above trees may be planted is :
(1 9 ) 10

@) 11 @13

'Alst\mceasfastasBandBlsthnceas

fast as C. If some distance is covered by

- C_ in 54 mmut'es then in how much tlme

‘(77 18 minutes
(4) 15 mmutes
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81.

82.

83.

84.

85.

[17]

SOET-2011 & STER X sfEem &)

geY IRl &Y e
(1 75.6% (2) 65.9%
3y 84.1% 4) 71.4%

Rrioiag & & B U990 & 919 “ehela]
(i) FeamEa e

(i) STUETS

(iii) TreTe™

(iv) USTE

78 I G

(D) T @v) ) ()T (i)

(3) (i) & ({v) (4) Fad (iv)
Fefafeg § @ -9 Ske afed §

qofed 787 &l o ?
(1) &' (2) HEE
i (4) gemedd

Yo JHRM 9@ B I F FfRad & 4
P T OTTT € 7 |
(1) o YR T [wd B IS
e & Hewye S |
| e @ AR S
Ry & el B Th SHEE 6
ST R Al :
(3) =R P @ T A de
gepiiarg feRd | .
(@) 1952 & 1956 % A T T &
g B
Rreifefiaa apem O foree e ¢
@ T PEr ® T F FEAE

g T 4
IriE & & S B T BT
1) e (a) T B '

) ¥ (b)) T E1
(3) A (@) AR T & (b) T 1
4) (a) T (b) I T B

L ievslarsERt

81.

82.

83.

84.

85.

~(3) (i) & (iv)

[C]
The male literacy rate of Haryana as per
the census-2011 is :
(1) 75.6%

(2) 65.9%

(3) 84.1% 4) 71.4%
With which of the following states, the
"Kalesar National Park" shares its

boundary ?
(i) Himachal Pradesh

(i) Uttrakhand

(iii) Rajasthan-

(iv) Punjab

Choose the correct answer :

(1) @) & (iv) (2) (i) & (1)
(4) Only (iv)

Which of the following rivulets does

not converge into Sahibi ?

(1) Dohan (2) Kasavati

(3) Indori (4) Drishadvati

Which of the following statements

about Pt. Neki Ram Sharma is nof true ?

(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.

(2). He organized a public meeting of
Gandhiji at Bhiwani during Non-
cooperation Movement.

(3) He published a Hindi Weekly
'Sandesh' from Bhiwani.

(4) He was a Rajya Sabha Member
from 1952 to 1956. ‘

Consider the following statements about

the 'Mukhya Mantri Vivah Shagun

Yojana' :

(a) For the marriage of the daughter of
a widow a grant of Rs. 51,000 is
provided. )

(b) The income of such widow lady
‘must be less than one lac per annum.

Which of the above statements is/are

correct ?

(1) Only (a)is correct.

(2) . Only (b) is correct.

(3) Neither (a) nor (b) is correct.

~ (4) Both (a) and (b) are correct.

. P.T.O.
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86. fr=foRgq & @ @W-U HAT ‘9HERR 86. Which of the foll'owing crop]s3 }clloes not
RO Aer F ol afafi 78 ® 2 %’%;a‘fi’,der e A S
(@) el | (2) o1 (1) Sugarcane  (2) Potato
)" T 4) =S - (3) Tomato (4) Onion
87. faweEl, frm 2018 & wRERE @« A 87. The player who won the Gold medal in
SR IEC I the Asian Games-2018 : ;
(1) &1 M | (1) Neha Goyal
2 ST gieEn (2) Bajrang Punia
Q) FEE g AR | (3) Vikas Krishan Yaday
BCOREIR Gl ' (4) Seema Poonia
- 88. [T < gafaa i ¢ 88. Match the following :
- Cx-y T _ Center  District
A ;‘q?{ SURA Qlaflém ® W S A. Center of Exgellence (i) Kurukshetra
B aﬁléﬁlﬁi : | [ ' for Vegetable ] e
B. d=X A qmﬁ'ﬂ (1i) R:R'HT : B. Center of Excellence (ii) Sirsa : l
(ii)
HIR Gy : , "~ for Flowers
C. ¥ 3w Eﬁm@m (111) Erere C. Center of Excellence (iii)Jhajjar
WK A N N for Fruits
D. ?{@%@' Sf-aHIT (IV)WIFT . N D. Integrated Bee-keeping (iVj‘Kamal»
e éaagﬁ'c’ gex 7 X : : _ ' Development Center '
& ﬂ‘?@'ﬂﬁ'q S TEe i 'Ch@ose thc correct code
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[19] [C]
ST - IV / PART - IV
DI HigH/COMPUTER SCIENCE
fdSr : T 991 @ GT &7 % [0 5 3T ey g

Direction : Answer the following questions by selecting the most appropriate option.‘

o1, TITE-TRW %A = CEILING (41.1, 3) 91. What is the output of MS-Excel
1 TG F & ? . function=CEILING (41.1,3) ?
P39 (2) 41.000 . s @) 41.000
(3) 41 4) 42 B I (3) 41 (4) 42

,92. i B A aﬁ:{-m WINDOWS kil 92. Which of the following is not a
R TR 7 3 ' .+ WINDOWS version ?° :

- A7 WINDOWS-96 (1) WINDOWS-96
(2) WINDOWS-2000 AR ' (2) WINDOWS-2000
(3) WINDOWS-XP (3) WINDOWS- XP
(4) WINDOWS-98 ' (4 WINDOWS-98

93. P I G QWERTY (ERH'('@[) 93. QWERTY is a “type of what in the
T I © 7 : ' ~ world of computers ?

(1) TREE (2) W - " (1) Mother-board (2) Network
@) HAE . @ TR 1S | (3 'Key-board (4 Memory card
o4, Frr § ¥ B W B gqr el | 94. Which of the following is nof an
o S g‘i@ 72 % g . appropnate set of super computers of
LR . ' India ?
(1) q—qq T, q,—anﬂT[T aniﬁ : - (1) Padma, Yuva, Kanchanjanga','
\ . Shavaka
"(2) va%?il axrﬁ?q q-(r[ gEIT-II Qﬂﬂ'cﬁ 1 ~ [2y Sahasra, Aditya, Param Yuva-II
' Shavaka .
3) Padma, Sahasra, Ishan, Pratyush
@ Aloklk ‘Adwitiya, Param, Aayush
95. Choose invalid statement in context of -
‘ software testmg
(I) System testing is usually done by
i the development team.
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9o, Ufeady  golET

i
-
3
=

§ 2

100. T 2-fe
SINED
el © ¢ ,
(1) 2-XOR, 2-AND, 1-OR
(2) 2-NOR, 2-NAND
‘(3) 1-XOR, 1-AND, 1-OR_
' (4) 2-AND, 2-OR
101. iﬁmwf=(a+bc).(pq+r)qt
L  RER B SR £ B S8

() (@ +b).(pg+r)

@) d@ +c)+(p' +q)
(@) (@+be)+(plg +r)s
@) (ab'c)+ (p'q'r")

- :g_'-ﬁﬁ'sﬁaﬁr%wﬁw

[21]

T

L

99 In context of dependability in software
engineering, the ability of the system to
deliver services when requested, is

calledi. vive i it and the ability of the
system to deliver services as requested,
iscalled ...... Fotion s :

¢ Availability, Reliability
(2) Reliability, Availability
~(3) Security, Reliability

(4) Availability, Security

- 100. A 2-bit full adder circuit may be

designed with the help of the following
" 2-input logic gates :
(N"2-XOR, 2-AND, 1-OR
(2) 2-NOR, 2-NAND
(3) 1-XOR, 1-AND, 1-OR
4y 2-AND, 2-OR
101. Consider the Boolean function
f=(a + be) . (pg + r). Complement f"
of function f is : :
() (@ +b'c).(p'g' +r')
(2) d@'+c)+(p' +q)W
m (a'+b'c')+(p'q’+r')
) (@bc)+(pg'r')

102. In MS-PowerPoint shortcut-key used to

open macro dialog box to run, create or
 delete a macro is :

@_Ah:jr F8.

‘

(2) Shift +F8
(@) Cul +M
.doegment after selectmg
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1€

104. ooy &, e H @ gl

105.

106.

107

.

@

affoRe &9

............

TF WY E?fSEF{
fore &9
g

(1) TREND
(3) TEXT

(2) TRIM
(4) PROPER

.............. # FREd o orRE 3
a1 RSl B 3 ST gSat 2

(1) Bles M

C(2) sERs |

(3) FFRE K
Sifteerer AR

.............

.............

2 T g, ﬁ:cﬁ?rr

(3) 9 fiRe, Reidy
4) T F, ey +AG-IR

EEPROM & aicqd & :
(l)ﬁﬁi‘ﬁﬁ @ﬁw B LRI

104.

105.

106.

In MS-Excel, to remove extra spaces
from a text except single space between

words, We Can use ........... function.
(1) TREND e)/ TRIM
(3) TEXT (4) PROPER
after a

............

[t is required to refresh
certain time interval.
(1) Static RAM
2y Dynamic RAM
(3) Magnetic Memory
(4) Optical Memory
............... is a new feature introduced
in. Windows-7 which hides all open

- windows to show the desktop. Shortcut

key to use this feature is .............. :

7 Tump list, Windows key + Shift

(2) Aero Peek, Wmdows key +
Space-bar ‘

(3) Jump list, Shift+tab

(4) Aero key, Shift+tab + Space-bar

107. EEPROM stands for :

(1) Electrically Erasable Programmable
' Reqd Only Memgry v
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110. 71 99 @ gEAX Rifsx 20 9 §s 110. Let disk request come to a disk driver
Y Tel © SH T, (ST FEER Bl for cylinders in the order 10, 22, 20, 2.
Wﬁ%gﬁziﬂgoéz q‘g’%gm 38 % g 40, 6 and 38, at the time when the disk
;E_::‘jg e % = q%?fa;?@? @ driver_is rc'ading from cyli_nder 20. If the
N (FCFS) e BT{Tﬁ[, , Y seek time is 6- ms per cylinder 'then, the
3 B g T mrliﬂ\ | ST total s-eek time for. the disk arm
T i scheduling time algorithm FCES (First
(1) 360 ms (2) 212 ms Come First Serve) is :
(3) 848 ms (4) 876 ms (360 ms (2) 212 ms
(3) 848ms  (4) 876 ms

111. THUH-UEXE@ES-2007 # SUESHICY| 111. In MS-PowerPoint-2007, to easily
SEGKI| w N F U & g rearrange slides we can use
N B TNKE

ST e e st s fereneq option found under view tab.
TR BT T B | -
(1) e M | (1) Slide Show
(2) &Es AR ' £y Slide Sorter
. (3) TE9mE HER (3) Handout Master
(4) WES AN - (4) Slide Master
112. @Q’H-ﬂé TEEST | TBE A e 112. In MS-Word document, the last line of
o St PR % 99 T 8BS [ B a paragraph left at the top of a page is
........... FEAr & qdr Bﬂ?& H T called ............. and the first line of.a
iR st O % W€y A= 8 STl @ paragraph left at the bottom of a page is
......... .. el & | : callcdmme e
(1) =, i - (1) Widow, Orphan
() &, fael  (2) Orphan, Widow
(3) TSR, CIEESIES] . 63’)/ Outline, Top-line
(4) pera-amg, - | (4) Fix-line, In-line
113. THUG-THAT H, .oooovreee T I e 113. In MS-Excel, ............ facilitates to
: war 4 B qIEE IeifEd Pl 5resd- specify some criterion in one or more
T 1 3@ Al g{%{gﬂ &l gl columns to display selective data.
) e () i (1) Formula (2) Sorting
3) R (4) fee : v (3) Filtering (4—Pivot
114. ™/ & 9§ P9-91 q]’v'-[ (7214)g CCEICES 114. Which of the following value is not
& R equal to (7214)g ? i
' TR : 111010001100
(1) (111010001100), 47 ( 1100)2

| @) (EAC)s
. A (3) (3724)10
(4) (322030)4

(2) (BAC)6
(3 3724

(4) (3220304

; P.T.O.
: Levelf3l3321 :
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.
G [24]
115. Brex & BT Jomam & oo Gl 115. Print quality of printer is given i
am Bie R B .o B ST SR \ rmqu a}rlld printing speed is gr;v:;
) T S e R e
(1 ) TR R e (PPM), SRR 9 (DPI) (1) Paper Per Minute (PPM), Dot Per
g Inch (DPI). :
(2) ®AfeFH TR (CN), WIH W fFe (2) Chromatic Number (CN), Rotation
(RPM). Per Minute (RPM)
(3) SEwEH (DPI), TR R e (PPM) (3] Dot Per Inch (DPI), Paper Per
X i ' Minute (PPM)
“@ fT‘c' 131? & (DPI), WM | PFe (4) Dot Per Inch (DPI), Rotation Per
gl ) Minute (RPM)
: o Wﬁ%ﬁ?“r - 33.6'"55 % foe eTvas 116. Which of the following is not required
i = condition for a deadlock ?
_(2; BITS Tq , (1) Hold and Wait
& m?e‘qléa - (2) Preemptive
I g QE'HE‘TH : 3) Mutual Exclusion
(@) GEww : . ' @ Cycle
117, (89D)16 +(259) 0% AT & : 117, Sum (89D);¢ +(259);¢ is :
(1) (9EA), QECIe . ¥ (1) OEA),  (2) (3472)4
_e (2464)loaf 4 (63215 @y eaes), @) (63215)
118. (101011, H (1), H_AF 3 W | 118. On dividin
. . 118. g (101011), b
. HITBT AT SITBA SHA: Eﬁ'?r : » quotient and negnamder)?eSpgctg;l); arglc
(1) (1110), qr 0r% g () (110); and- (),
@ @on, e (0, A2 (1101); and (0)y°
(?) (1110)2 s (0)2 T -« ) (1110)5and @2
Rk Wi ‘ (4) (1011)2 and (1)2

Scanned with CamScanner



192

123.

http://haryanacurrentaffairs.com

(2) 11,35

(1) 27,5

() 11,27 (4) 5,35
TTotloTHOUTo HEHTI-5 & Ramier M
............. Al J9-TEN &R

THoc|oHoUNO & TR &
R G

(1) <IDOCTYPE html>

(2) <$DOCUMENT html>

(3) <#DOCTYPE html>

(4) <#DOC html>

q 39 &HAT 100 THodlofouy i
BH TR 10000 few Tur ofwd

SFHA X 5000 B/AHTS B AERY

FZ27 feid @ G g, 999 W Uh
BH Ao SlEd A fowra &
(1) 200 F=H GHSH

~(2) 100 AREER VTS

124,

(3) 0.5 FFH=d
(4) 2 el Gevgd

'Cw%ﬁ#ﬁﬁrwrasaﬁrwﬁaﬁ'
P :
1. o % ()

% fel
S g s

[25]

121.

122. In HTML Version-5,

123.

124. In context of CH++,

[C]

Let the postfix expression 3, 2, +, 7, *,
6, 5, +, 4, *, — is being evaluated using a
stack, What are the values on top and
bottom of stack respectively, just before
second + operator is evaluated ?

(1) 27,5 @) 11,35

@G 11,27 4) 5,35
the
declaration tag is used by the web
browser to understand the version of the

...........

"HTML :

(1) <'DOCTYPE html>
(2) <$DOCUMENT html>
BY <#DOCTYPE html>

(4) <#DOC html>
“Consider channel capacity is 100 Mbps,

mean frame length is 10000 bits and
average  frame arrival rate is
5000 frames/sec. Applying simple
queuing theory, the mean frame delay to
send a frame onto the channel is :

(1) 200 micro seconds

(2) 100 micro seconds
0.5 seconds
(42 mili seconds

consider the

following statements :

" 1: Friend Fracien oF B Ores o

directly access both private and
protected data of the class.

.I.I : Member function of derived class
‘can directly access both private and
protected data of the class.
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[C] | | [26]

125. fr=r SQL #& T famm &Y 125.  Consider the following SQL query :
SELECT title, name : SELECT title, name
FROM Employee FROM Employee
ORDER BY title, name DESC; P | : ORDER BY title, name DESC;
™ R B 3y § i qged | ~ In output of above query the different
s . FH O e @i'?[ HEJTHHH : titles are listed in ..... ...... order and
wew A R S W ... | names of employees having same ite
9 7 gl A ' _ are listed in ........... order.
(1) e, ST " : - (1) Ascending, Ascending
@ G?ﬁ‘@”f, IS , . , (2) Ascending, Descending
(3) SRR, STRIE | (3) Descending, Ascendmg
A 126 g) RS, E il (A')/ DéSCendlng, Desdendmg
e 4 3 s ReIse @ gex-dam GiT‘ﬁst - 126. Tntersection operation on two database
7 - , . Ll relatlen«ls s
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129. B ALOHA % &Tq oty g

YRR @
r (1) 39% ) 18%
L (3) 27% @) 54%

L 130. P # @ fFT oM 3 R

131.s‘owoﬁmﬁq¢mﬁm

132. THotloWoldo # #3W & Rm R
. absr X7
g (1) <email = pqr@example.com> This
: is link to write me an email </email>
(2) <email> <SetID> pqr@example.com
</SetID> This is link to write me

an email </email>
“(3) <ahref= "méilto;pqr@‘exarpple.comb
~ This is link to write me an email

. </a> ] : ) _‘ o .

(4) <a herf = "<SetID> pqr@example.com

' </SetID"> This is link to write me |

- amemail </a>

3 o ot Dot
= 1=
.

http://haryanacurrentaffairs.com

N @ fhes WA & S o ae

1C]
129. Maximum channel utilization in case of
pure ALOHA is :
(1) 39% 2) 18%
3) 27% (4" 54%

130. Which' of the following operations
requires two tables as input having a
least one common column ? ;
(1) Select (2) Join
(3) Projection (& Cartesian product

131. A double ellipse represents
attribute in ER-diagram.

(1) Multi-valued (2) Composite
. (3) Derived = (4 Complex
132. In HTML link for e-mail can be created
_ using which of the following ?

(1) <email = pqr@example.com> This
is link to write me an email </email>
(2) <email> <SetID> pqr@example.com
</SetID> This is link to write me

an email </email>

(3) <ahref="mailto: par@example.com'>
. This is link to write me an email -

<l R
JA&"' <a herf = "<SetID> pqr@example.com
- </SetID"> This is link to write me.

aner‘r{ail </a> _
133. Consider Column-1 and Column-2 :
: Column-1 Column-2,
1. Microsoft Office 5. File Archiver and
i - Compressor
indows-10 b, Digital Library
P c. Application

are
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oTloUHOTTO H  ivvvvvnnn.. Q’l%]ﬁ'{,
e g R T A 2
R & gax Repe I & -
(1) <SUPER>
@) <SUP>

135.

136.

RIS

(3) <SUPER SCRIPT>
(4) <SUP SCR>

A e ROE R 3 Rm, R & dfvfe
fFAT (Insert Operation) @ In @oT R &
fodes fobar (Delete Operation) &' Dr
§ FrefE R o ) am oo o
RO R2 § wh a1 g0 & ot R
R1 & mﬁmﬂa\zﬂ%ﬁ s 21 d Q@

(referential integrity constramts) e

~ STET #H HROT B TS B, T
(1) Ir1 3R Ir2

(2) Dri aﬂr Dr2

() ki X Drz (4) Irz &R Dri
AT o T ST
FTNEA  H <=H mﬁﬁaﬁ SHHST:
............ 2|

(1) O(logy 1) FR]T O(nlog2 n)

(2) O(nlog, n) (S8 0(log2 Z)

(3) O(nz) qar 0(10g2 )y

THIAT SRR

134.

© 135.

In HTML the ........... element is used
to contain characters that should be

super script :

X <SUPER>

& <Ssup> |

(3) <SUPER SCRIPT>

(4) <SUP SCR>

Let for any relation R, IR represents
operation insert into R and Dr
represents operation delete from R.
Assume that a relation R2 has a foreign
key that refers to primary key of another
relation R1. Two operations that may
cause’ violation of referential mtegrlty

_ constraints are :

(1) IRiand Irz  (2) Dri and Dre

- B) Iti and Dr2  (4) Ir2 and Dri
136.

Time complexity of Merge Sort
Algorithm  and  Binary  Search
Algorithm are respectively .......... :

(1) O(logy n) and O(nlog, n)

@) O(nlog, n) and O(log, 1)

- B8 O¢?) and 0‘(-1o'g2 n)

@) 0(2") and O(n )
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138. . C++ #, =1 & @ M- et
SeRdIs 787 fHar ST Hepar .;qT :

(1 » Q) ==
3) .[Ek] ) |

139. & RevE R y&s S99y tfeere
AR FN W qoRe e
R (e Pfe) & o vt 9

RIHCT-Fsreer (Wehrish Fslean) 1 &,

............ Y T ST B
(1) BCNF (2) 2NF
(3) 3NF (4) 4NF

140. STRo Glo TSE 10.231.241.1 frsf @(
fPE o § defg & ?

(1) =g A (2) FEB
(3) =™ C (4) T D

141, 91 § S9-91 @& ogfm C++ e
FHR & 7 -

(1) /*//Comment/*/.
(2) //*Comment*/
(3) /*Comment™\
_ (4) //Comment
142. {7 QSPTRU @ar PQSRTU shHAT: ?nfnr

feu gq sEAd &1 T % &7 i

T 2avaT 81 T  Jiee-aet
T BT 7

(1) SQU'TRP (2) QSUTRP

(3) SQTURP (4) QSUTPR

143, TCP/IP YH~G HEA H .oooovvnres
TR SABIT & Sidih

TEBIN, AAT MCIBIA & STHD oeernree
% g O I ¢ |
(1) RTP, ICMP ‘

‘(@) DSL,IP.
- (3) SONET, DSL

(4) DNS, TCP

144, :
144 i:;g;bﬁ?wc-!—fﬁaﬂaﬁaﬁ.(ﬁﬁg).

[C]
138. In C++, which of the following operator
cannot be overloaded ?
@hsa ) ==
() [dot] SRR
139. A relation in which every non-key
attribute is fully functionally dependant
on the primary key and which has no
transitive dependencies is said to be in :

(1" BCNF (2) 2NF
(3) 3NF " (4)4NF
140. IP address 10.231.241.1 belongs to
which of the following class ?
(1) Class A . (2) Class B
(3) Class C (4y Class D

141. Which of the following is invalid C++
comment statement ? ' :
(1) /*//Comment/*/
(2) //*Comment*/
(3) /*Comment*\
(4 //[Comment

142. Let QSPTRU and PQSRTU are in-
order traversal and pre-order traversal

respectively for a given binary tree T.
What will be the post-order traversal T ?

(1) SQUTRP ) QSUTRP
" (3) SQTURP - (4) QSUTPR
A3 e iopirins is an application layer protocol
while ...:...... is internet layer protocol
in TCP/IP reference model.
(1) RTP,ICMP
@y DSL, IP
(3) SONET, DSL
(4) DNS, TCP
144. Which of the following is not supported
I =2
(1) Automatic garbage collection

(1) SRR e e c gart
(2) A FTeReE (2) Multiple inheritance
(3) ¥R iEw ' ] (37" Smart pointer '
(4) ToTe SFERT . (4) Virtual destrugtor
etk SN el Y ({S\ R
T T A ?
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145.

146.

147,

Tgodlotoldo & H'—“Z‘f i ﬁ":f. EaReR|
g 8T ? |

<P> This is <del>" WEB</del> <ins>
HTML</ins> Page </p>

(1) This is WEB HTML Page

(2) Thisis HTML Page
(3) This is WEB HTML Page

(4) This is WEB (deleted) HTML
(inserted) Page

w RAM R(A, B, C) W fBeR a3,
R FeUSES (e frfa) &
T W (P ) @ TR
=1 3 Q o s v 78 27
(1 IfA-—)BandB—)C,thenA—),C
(2) IfAB - C, then A - Band B - C
(3) IfA— Band A — C, then A —» BC
(4) If A— B, then AC — BC

Fr 7 & - Ci+ Afgier & 3
T AL
(1) setw()

@ setfill()
(3) resetlosﬂags( )(4)
GEC

[30]

145.

146.

147.

,.‘.; In

(1) setw()

In context of HTML what will be the
result of the following ?
<P> This is <del> WEB</del> <ins>
HTML</ins> Page </p>

(1) This is WEB HTML Page

- (2) This is HTML Page

,(3’)' This is WEB HTML Page
(4) This is WEB (deleted) HTML
(inserted) Page '

Consider a relation R(A, B, C). Which
of the foIIowmg statement is nof true
according  to inference rules for
functional dependencies ?

(1) fA—>BandB — C, then A —» C
&7 It AB - C, then A — B and B > C

(3) IfA—>Band A — C, then A — BC

(#1f A~ B, then AC — BC

Which of the following is not among -
mampulators L (G 02

(2) setfill()
0 resetaosﬂags( )(4) unset()
Cit
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